Polynomials

l Exercise 6E Exam Préctice

1 ' fx)=x" - 8>+ 17% - 10
a Show that (x — 5) is a factor of f{x). , (2 marks)
b Hence, or otherwise, solve the equation f{x) = 0. (5 marks)

2 Given that
(o + Ax + 3y =x'+ B+ Cxr - 12x+9,

find the values of the constants 4, B and C. (6 marks)
3 f(x)52x3+ax2+bx—18.

Given that (x + 3) and (x — 2) are factors of f{(x),

a showthata=5andb="9, (5 marks) °

b fully factorise f(x). (5 marks)
4 fo) =X+ 2)(1- 5)

a Show that f{x) can be expressed in the form O+ A+ B),

where 4 and B are integers to be found. (6 marks)

b Hence solve the equation f{(x) = 0. (3 marks)

5 y &

y=8—1l4x+ 7%= x>

o] A~ _7B c\ g

The diagram shows the curve y =8 — 14x + 7x* x> which crosses
the x-axis at the points 4, B and C.

Given that 4 is the point (1, 0),

a state one linear factor of the expression 8 ~ 14x + T -2, (1 mark)
b find the coordinates of the points B and C. (6 marks)
6 ) =x"—x*+hc+4
 Given that f(4) = 5£(2),
a find the value of £, (4 marks)
b show thatx="1 is a solution of the equation f(x) =0, (1 mark)
¢ show that the equation f(x) = 0 has no other real solutions. (5 marks)

LExercise 6E Exam Practice j 1
1 bl,25 |
2 A4=-2,B=-4,C=10

3 b E+3)x+3)r-2)

4 a(@@+3)EI-2) b2
5 a(x-1) b(2,0),40
6 a2




[P AT N B e
)x“
L ; e

(b) sub x=1i
) =1 - g4 -0

(a1 gl "/iz,‘( Liar.

oquatif fo left hand de

(¢)-lo e Qud ()

W e X & £;)’

= 2t + fp)uct (BpT Jat b

RUAGHEEA
S

B R

P ’ ' b :
.5 - N SR A R TR, RS E
K . H - 1 _:” : g V.‘" i 7]

-.w;l)
,f'r] 3
ﬁf'ygg‘ 0 ““5:5

J
(28

f[l) =2(pY 4 4at2 b

e 'J(/rﬂ (‘2“‘)




Qup ) S
" @ ) Sne pasdzem; o linea ['70/ o (¢ = )3( 3 . g g

{s ()L —f) / . . oA /

KL ~f e /
@0\1 x —| ) TR I L \?_‘)Llfl;b

’ AT I 4t TR
I - Dy

~ A 3 32 . -A-ﬁ..;,»:::.:;_')i(" b

A

z. ' Fop o <

(o y A2 /" “ »‘mz

b6y G g0 ) (2

—%9 t5 L | ‘ ‘
~9 19 for f0ai hghare MY OHEr 2088,

5 X2 ¢4 =0

Vg = G- X ~4) b= 44/

2 200 reaf enly

. o
)

< R T('Q,O) /
(4,0) /

» = AL 3 i
cone oYhorrealsiin

Qb @) L) = ¢14-16 +4lt4
= b2 4K
bEG) =6 (g- e
40+ [0k
he ) g s gres:

g0 alip

b2 4 k =40 tloik

\fl = ék
/

)3 =T+ 1
oA (s2) te
/

&=

™ 25
e}
o=
C L
i/ Y]

=~4{4 =0
/

sowes < jss0n of eqn f’f”fO



=0 t§

~0 13

9

L y = (= 1)~ X \‘(D

£ (2,0) /
(4,0) /

A

Qu b @) L) = 64-16 t4lci4

- b2 44k

26 (3~ Aprkpt
40 1+ [0k

PLM{!’ ooAne ) cVa gs‘“'

b2 14 k =<0 tiok
= bk
/

5 ()

H2
:g(’f\:ti

-1
/

i

b fou)
)

} )

= ~44q] =0

| -

Qttg 3 - 1 : oo [ [ ﬁ.—,: -.
O dnce pisazen, & lnearfucior S I R )\L S i

a . )/ ~f "f

4

x3 i}f:‘\ /
“Z?Llflx, '
))’ ) l)c

TR s e e,

4 ,f f*?
A f
o )

S ?C.Oc,) = 00t ) (g2 ped)
for {0 hoharve any oWlerzgroes,

o
A 2y t4 =0

A= 401/
= 12 200 reaf soly
e otherrealsila

y

“Lis sl of egn ff""“



AGEEAS

B P e

.
(¢)-lo wm QL ML) =iyl g0 o

(S @) f5) = -8G5t

< - 3 I, ./f-‘;,.,- S - -
= xf A éﬁ)?(,:’f ("5P Ju T AP A o /

equatieg o leff hand fe ‘]C(U g 208
w Qu4 @) (¢ (X‘”B;L)( )

(j -.' i/", E e 3 .
7 . 2. = 7(, 1243)<l"-‘*
[ .






